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package task

import (
1 fmtll
"domain/event-handlers"

const (
tasklHasCompleted eventhandlers.Event = "Taskl has completed"
task2HasCompleted eventhandlers.Event = "Task2 has completed"
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type Task3 struct { type Task4 struct {

} }

func (t *Task3) Exec() { func (t *Task4) Exec() {
task3Handler := new(Task3Handler) task4Handler := new(Task4Handler)
ehs := eventhandlers.GetInstance() ehs := eventhandlers.GetInstance()
ehs.Sub(task2HasCompleted, task3Handler) ehs.Sub(task2HasCompleted, task4Handler)
fmt.Println("task3 sub task2HasCompleted") fmt.Println("task4 sub task2HasCompleted")

} }

type Task3Handler struct { type Task4Handler struct {

} }

func (t *Task3Handler) Handle() { func (t xTask4Handler) Handle() {
fmt.Println("task3 handler start") fmt.Println("taskd handler start")

time.Sleep(200 x time.Millisecond)
fmt.Println("task3 handler end")

time.Sleep(500 * time.Millisecond)
fmt.Println("task4 handler end")
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type Taskl struct {

func (t xTaskl) Exec() {
tasklHandler := new(TasklHandler)
tasklHandler.Handle()

type TasklHandler struct {

func (t xTasklHandler) Handle() {
fmt.Println("taskl handler start")
time.Sleep(50 * time.Millisecond)
fmt.Println("taskl handler end")
ehs := eventhandlers.GetInstance()
ehs.Pub(tasklHasCompleted)
fmt.Println("taskl pub tasklHasCompleted")
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func (t *Task2) Exec() {

task2Handler := new(Task2Handler)

ehs := eventhandlers.GetInstance()
ehs.Sub(tasklHasCompleted, task2Handler)
fmt.Println("task2 sub tasklHasCompleted")

type Task2Handler struct {

func (t *Task2Handler) Handle() {

fmt.Println("task2 handler start")
time.Sleep(100 x time.Millisecond)
fmt.Println("task2 handler end")

ehs := eventhandlers.GetInstance()
ehs.Pub(task2HasCompleted)
fmt.Println("task2 pub task2HasCompleted")
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var inst xEventHandlers
var once sync.0Once
package eventhandlers func GetInstance() *EventHandlers {
once.Do(func() {
inst = &EventHandlers{ehsMap: make(map[Event] [IHandler)}

import ( 1
"sync" return inst
) }
func (e xEventHandlers) Pub(event Event) {
type Event string e. lock.RLock()

defer e.lock.RUnlock()

if handlers, ok := e.ehsMap[event]; ok {
for _, handler := range handlers {

Handle() go handler.Handle()

type Handler interface {

type EventHandlers struct { }
ehsMap map[Event] [IHandler
ek RWMut func (e xEventHandlers) Sub(event Event, handler Handler) {
DER. SyhC-RIIUTEX . lock. Lock()

} defer e.lock.Unlock()
e.ehsMap[event] = append(e.ehsMap[event], handler)
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package main $go run main.go
task3 sub task2HasCompleted
import "domain/task" task2 sub tasklHasCompleted
taskl handler start
func main() { task4 sub task2HasCompleted
taskl := new(task.Taskl) $ock1 handler end

go taskl.Exec()
task2 := new(task.Task2)
go task2.Exec()

task3 := new(task.Task3)
go task3.Exec() task2 pub task2HasCompleted

task4 := new(task.Task4) task4 handler start
go task4.Exec() task3 handler start

time.Sleep(time.Second) task3 handler end
} task4 handler end

taskl pub tasklHasCompleted
task2 handler start
task2 handler end
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